Quiz 1 for Statistics (2011/10/18)
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1. Describe the difference between the descriptive statistics and inferential statistics
in words and provide the examples for the descriptive statistics and inferential
statistics, respectively (20%)

Ans:
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Examples. Bar chart ~ historgram ~ boxplot ~ frequency table - scatter plot ~ T 35 -
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2. Describe the following terminologies in words (30%).
€ Population vs. Sample; Parameter vs. Statistic; Census vs. Sampling

Ans:
Population: /3 & F &% B 7T > 91 F ¥ g % HULr’W & AN o 15 (B 2EAY
My E2Ey e <> T AR ZZ"’x%"'Ehgn—\‘ ¥ 3 > (5%)

Sample: &+ R EHS N AEAER D SN B e TRl o WA 2 e & > R H ) A
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Parameter: % — #c i@ 3] s ® (numeric quantity) » i@ F 2 A aolic» % ki it 4F
Fg A2 P (ot st 2) o (5%)

Statistic: % - #&& (quantity) > i ¥ d R AFTHFE RE > T K gt Aoadg
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Census. #- B2 Fp » LB > ¥ 10 232 RIS A A% % - (5%)
Sampling: 4 e VA R ¢ P B- IR0 TALE L R A AP Bk A
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3. Describe the types of datain the real world, and provide the examples for these
datatypes (20%).
Ans:



Interval detar 21 5 LAEE AN 02 X % L F e PR 70 et B
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Examples: ¥ % ~ # & - {7 {epedp2 u5 o (2%)

Nominal datar ™ #ciEg 4| ik S & 2§ 3 iz P g A 2 iirwl 2 i A
(counting process) &3+ & fE%Fu ST 4 2 Sfice TR R AR S OE B AL
TRk ad? o (5%)

Examples: & * % (codes) kzeddfdFpe i t H 2 =1 2 4% = 2> #48 = 3
ME = 4-(2%)

Ordinal data: m it 4] i % & 3 "R g w] 0 2 AR B EARE B §5 2%
o f ﬁﬂ e A2 (counting process) KB L fAup i 4 2 Sl TRV Y
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Examples: 7 4% = 1> 3 =2 24 =3 {45 =4 2244 =5 &2 AT
AL o (2%)

4. Usetheinterva data, {6,9,12,8,22,11,19,13,17,3}, to accomplish the following
items.

(@ Mean, median, variance, coefficient of variation, 80" percentile (10%)

(b) Histogram, Boxplot (10%)

Ans:

(a) Mean:12 ; Median=11.5 ; Population variance:31.8 ; Sample variance:35.3 ;

Coefficient of variation:0.468 or 0.495 ; 80™ percentile:18.6

(b)Histogram:
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Boxplot:
Min:3;QL1:7.5; Median=11.5; Q3:17.5; Max:22
15%(17.5-75)=15 #tT AJFE B E > T N FlE] B X
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5. What is the statistics meaning to you? (5%)
Ans:
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6. Why do people need the statistics? (5%)
Ans
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